Chapter 2 Linear Equations and Functions

Ex 2.6

Answer 1le.

L set of data points plotted on a rectangular coordinate plane 15 called a scatter plot. If the
cotrelation coefficient for such a set lies close to +1, then the data can be modeled using

a line. Such a line that 15 as close as possible to all the data points 15 called a best-fitting
line.

The given statement can thus be completed as "4 line that lies as close as possible to a set
of data points (x, ¥) 15 called the hest-fitting line for the data points.

Answer 1gp.

We lenow that if the correlation coeflicient » lies near 1, then the points are close to the
line with positive slop. If # lies near =1, then the points are close to the line with negative
slope. If » lies near 0, then the points do not lie close to any line.

In the given data, we can see that the scatter plot shows approzimately no correlation,
This means that the points are not close to any line.

Thus. the value of the correlation coefficient » will be cloze to 0.

Answer 2e.

We have to describe how a set of data points shows a positive correlation, a negative
correlation, or approximately no correlation.

A scatter plot 1s a graph of a set of data pairs (x, y}.
Case 1:

The data have a positive correlation 1if y tends to increase as x increases.
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Case 2:

The data have a negative correlation if y tends to decrease as X increases.

Case 3:
The data have approximately no correlation, 1f the points show no obvious pattern.
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Answer 2gp.
The given scatter plot 1s,
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(a)
We need to estimate whether the data have a positive correlation, a negative correlation,
or approximately no correlation.

The given scatter plot shows a|negative correlation|, because as the number of units in

x direction increased, the no of units 1 the v direction tended to decrease.

(b)

We need to estimate whether the correlation coefficient 15 closest to —1.—0.5,0.0.5,orl.

A correlation coefficient, denoted by 7, 15 a number from —1to 1 that measures how well
a line fits a set of data pairs(x, ). If 7 is near 1, the points lie close to a line with positive

slope. If »1s near—1, the points lie close to a line with negative slope. If » 15 near 0, the
points do not lie close to any line.

The scatter plot shows a strong negative correlation. So, the best estimate given

is[r=—1].

Answer 3e.

We know that 1n a scatter plot, if ¥ tends to increase as x increases, then the data will have
a positive correlation If v decreases with increase in x, then the data will have a negative
correlation. Ifthe points show no specific pattern, then the data will have approximately

o correlation.

In the given data, we can see that v 15 increasing with the decrease in x.

Thus, the data have a negative correlation,

We lenow that if the correlation coeflicient » lies near 1, then the points are close to the
line with positive slop. If # lies near =1, then the points are close to the line with negative
slope. It » lies near 0, then the points do not lie close to any line.

In the given data, we can see that the scatter plot shows approximately ne correlation,
This means that the points are not close to any line.

Thus. the value of the correlation coefficient » will be cloze to 0.



Answer 4e.

The given scatter plot 1s,
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We need to estimate whether the data have a positive correlation, a negative correlation,
or approximately no correlation.

The given scatter plot shows a|positive correlation|, because as the number of units 1n
x direction increased, the no of units 1n the v direction tended to increase.

Answer 4gp.
The table for U.5. daily o1l production 1s,

x |0 1 2 3 4 5 6 7 8
Yy | 6660 |6560 |6470 | 6450 | 6250 | 5BR0 | 5820 | 5800 | 5750

O1l production 1s 1n y direction (in thousands of barrels) and years in x direction.



(a)
We need to approximate the best fitting line for the data.
At first we draw the scatter plot of the data.
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Now we choose two points that appear to lie on the line. The chosen points are,
(1_5,554?} which 1s not an original data pomnt and (T, 5800 ) which 1s an original data
point.
Now we have to write an equation of the line. For this we need to find the slope using the
points [1.5,654?) and(?,ﬂgﬂl:l].
5800-6547

T-1.5
_ 4T

© 55
—-1358

Slope, m =

Now we use point-slope form to write the equation. We choose(x;.); ) =(1.5.6547).
y—¥=m (:c o } [pﬂiﬂt—slope f-::rm]
¥—6547=-1358(x-1.5) [Substituteform,xl,yl]
y—6547=-1358x+203.7
¥y ~—1358x+6750.7 [Simplify]
Therefore an approximation of the best-fitting line 15|y =—135 8x+6750.7|.




(b)
Because 2009 15 15 vears after 1994, we substitute 15 for x in the equation

y=-1358x+6750.7.
y=-1358x+6750.7

= -1358(15)+6750.7
= -2037+6750.7

=4713.7
Therefore, there will be o1l production of [4713.7 thousand barrels| 1n 2009.

{c) We need to use a graphing calculator to find and graph an equation of the best
fitting line.
The graph of the best fitting line by using the graphing calculator 1s as follows:
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The equation of the best-fitting line using the graphing calculator 15
y=—12983333*x+6701.5556

By using the part (b) , we have x=15.
y=-12983333x+6701.5556

=-129.83333(20)+6701.5556

=4104 889
Therefore, there will be o1l production of |4104 889 thousand barrels| 1n 2009 by using

the graphing calculator.

Answer 5e.

We know that 1n a scatter plot, 1if ¥ tends to increase as x increaszes, then the data will have
aposthive correlation. If v decreases with increase 1n x, then the data will have a negative
cottelation. Ifthe points show no obwious pattern, then the data will have approximately
no correlation.

In the given data, we can see that there 15 no specific pattern.

Thus, the data have approxzimately no correlation.



Answer 6e.

We need to explain how we can determine the type of correlation for a set of data paurs
by examining the data in a given table.

A scatter plot 15 a graph of a set of data pﬂiI‘.i{I,_}-‘]. If ytends to increase as X increases

Then the data have a positive correlation. If ytends to decrease as x increases, Then the

data have a negative correlation. [f the points show no obvious pattern, then the data have
approximately no correlation.

In the given table,

(1)
If the ywvalues tend to increase with increasing values of xthen the data pairs have
positive correlation.

(i1)
If the ywvalues tend to decrease with increasing values of xthen the data pairs have
negative correlation.

(i11)
If there are no obwvious pattern of the values of xandy. then the data paurs have
approximately no correlation.

Answer 7e.

We lenow that if the correlation coetficient » lies near 1, then the points are close to the
line with positive slope. If » lies near —1, then the points are close to the line with
negative slope. If » lies near 0, then the points do not lie close to any line.

In the given data, we can see that the scatter plot shows approximately no correlation.
That 1z, the points are not close to any line.

Thus. the walue of the correlation coefficient » will be cloze to 0.

Answer 8e.

The given scatter plot 1s,
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We need to estimate whether the correlation coefficient 15 closest to —1,—0.5,0.0.5, orl.



A correlation coefficient, denoted by » | 1s a number from —1to 1 that measures how well
a line fits a set of data pairs (x, v). If r1s near 1, the points lie close to a line with positive

slope. If 715 near—1, the points lie close to a line with negative slope. If 7 1s near 0, the
points do not lie close to any line.

The scatter plot shows a clear but fairy weak positive comrelation. So, 7 1s between 0 and
1. but not too close to either one. So the best estimate given 1s m Y

Answer 9e.

We know that if the correlation coefficient » lies near 1, then the points are close to the
line with positive slop. If # lies near —1, then the points are close to the line with negative
slop. If » lies near 0, then the points do not lie close to any line.

In the given data, we can see that the scatter plot shows a strong negative correlation,
That 1z, the points lie close to the line with negative slop.

Thus. the value of the correlation coetficient » will be close to —1.

Answer 10e.

The given table of data 1s,
X 1 2 3 4 5
¥ 10 22 35 49 62
(a)

We have to draw a scatter plot of the data.
The scatter plot for the given data 1s drawn below:




(b)
We need to approximate the best-fitting line.

Now we choose two points that appear to lie on the line. The chosen points are, (1_5,16:]
which is not an original data point and {3,35] which is an original data point.
Now we have to write an equation of the line. For this we need to find the slope using the
points (1.5,16) and(3.35).
35-16
3-15
1
15
=12 67
Now we use point-slope form to write the equation. We choose (.3, )=(1.5.16).

Slope.m =

y-y=m(x—x) [point—slnpe furm]
y—16=12.67(x-L1.35) [Substitute for m. x;. |
y—16=1267x-19.005
yr12.6Tx—3 [Simplify |
Therefore an approximation of the best-fitting line 15|y =12.67x—3|.

(c)

We need to estimate y whenx =20
An approximation of the best-fitting line 1s y=1267x—-3 .

By substituting 20 for x in this equation, we have
y=1267x-3

=12.67(20)-3
=2504
Therefore the value of ywhenx =20 15/250.4|.

Answer 11le.

{a) The given data can be represented in the ordered pawr form as (1, 1200, {2, 1013,
(3,80, 4, 57, and (5, 42).

Plot the above points on a graph to get the scatter plot.
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(h) The line that follows the trends given by the data points most closely 15 called a
best-fitting line.

First, sleetch the line that best fits the data.

0 1 2 3 4 3

How, choose two data points that appear to lie onthe line. Let the points be

(2, 101) and (5, 42).

Find the slope m using these points.
42101
Co5-2

—59

3

rs — 20

The point slope form of an equation 15 ¥ —y = mix — x1). Choose (2, 101) as the
potnt (X1, 1.

substitute —20 for s, 2 for 21, and 101 for ) 1n the above equation.
v—101=-200x - 2)

simplify.
y—101==-20x + 40

Add 107 to both the sides of the equation.
y—101+101 = —20x + 40 4+ 101

¥ = —20x+ 141

Thus, an approximation of the best fitting line 15 y =—-20x + 141



{c) substitute 20 for x in the equation y =—=20x + 141 and simplify.
¥ = —20{20)+141
= =400 + 141
= —259

Therefore, when x 1z 20 the value of v 1z =259

Answer 12e.

The given table of data 1s,
x 12 25 36 50 64
¥y 100 75 52 26 9
(a)

We have to draw a scatter plot of the data.
The scatter plot for the given data is drawn below:
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(b)
We need to approximate the best-fitting line_

Now we choose two points that appear to lie on the line. The chosen points are,
(40,44.5) which is not an original data point and (50,26 ) which is an original data point.
Now we have to write an equation of the line. For this we need to find the slope using the
points (40,44.5) and(50,26).



Now we use point-slope form to write the equation. We choose(x;. 3, ) =(40.44.5).
Y—¥= m{;!:—xl} [pomt—slopf: form]
y—445=-186(x—40) [Substitute for m, x|
y—HM5=-186x+744
va—186x+1189 [Simp].{fy]

Therefore an approximation of the best-fitting line 15|y =—1 86x+118 9.

(c)

We need to estimate ywhenx =20

An approximation of the best-fitting line 15 y =—1 86x+118.9 .
By substituting 20 for x in this equation, we have
y=—-186x+1189

=-186(20)+118.9

=-372+1189
=81.7
Therefore the value of y whenx =20 '15-31.?|.

Answer 13e.

{(a) The given data can be represented in the ordered pair form as (3, 16), (7, 457,
(10, 823, (15, 102), and (18, 116).

FPlot the above points on a graph to get the scatter plot
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(h) The line that closely follows the trends shown by the data points 15 called a best-
fitting line.

First, skeetch the line that best fits the data.
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MNow, choose two data points that appear to lie on the line. Let the points be
(3, 163 and (15, 1020,

Find the slope, m2, using these points.

10216
~15-3
86
12
= 72

The point slope form of an equation 15 y —y = mix — x1). Choose (3, 16) as the
point (x1, ¥1).

substitute 6.7 for s, 3 for x1, and 16 fory in the above equation,
y—16="72(x -3

simplify.
y—16="72x-21%



Add 16 to both sides of the equation.,
y—l6+16 = 72x - 216 +16

v =72x=506

Thus, an approzimation of the best fitting line 15 v =7.2x - 3.6,

{c) substitute 20 for x iny =7 2x — 5.6 and simphify.
T.2(20)-56

¥
144 - 56
138.4

Therefore, the value of v 15 138 4 when x 15 20

Answer 14e.

The given table of data 1s,
x 56 6.2 7 T3 84
¥y 120 130 141 136 167
(a)

We have to draw a scatter plot of the data.

The scatter plot for the given data 1s drawn below:
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(b)
We need to approximate the best-fitting line.

Now we choose two points that appear to lie on the line. The chosen points are,
{5_5,135.5:} which 1s not an onginal data point and (5.6, 12{3:} which 1s an oniginal data
point.
Now we have to write an equation of the line. For this we need to find the slope using the
points (6.5,135.5) and (5.6.120) .
120-135.5

56-65
_-155
- 09
=1722

Slope,m =

Now we use point-slope form to write the equation. We choose(x;, ), ) =(6.5.135.5) .
y-—y=m(x—x) [ point-slope form |
¥—1355=17.22(x-6.5) [Substitute for m. x;. y, |
y—1355=1722x-11193
yx1722x+2307  [Simplify]
Therefore an approximation of the best-fitting line 15|y =1722x+23.07 |.

(c)
We need to estimate ywhenx=20.

An approximation of the best-fitting line 15 y =17.22x+23.07 .

By substituting 20 for x in this equation, we have
y=1722x+23.07

=17.22(20)+23.07

=344.4+2307
=367.47

Therefore the value of y whenx =20 15|367.47 | .



Answer 15e.

(a) The given data can be represented in the ordered pair form as (16, 3.9, (24, 377,
(39,340, (55, 2.9), and (6¥, 2.6}

Plot the above points on a graph to get the scatter plot.
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(h) The line that closely follows the trends shown by the data points 15 called a best-
fitting line.

First, sleetch the line that best fits the data.
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MNow, choose two data points that appear to lie on the line. Let the points be
(16, 3.9) and (68, 2.6).

Find the slope 2 using these points.
26 -39

63 — 16
1.3
52
= — 0025

The point slope form of an equation 15 ¥ —y = mix — x1). Choose (16, 2.9) as the
point (xy, ¥,

substitute —0.025 for e, 16 for 21, and 2.9 for y 10 the above equation.
v—39=-0025x-16)

simplify.
y—38=-0025x+04

Add 39 to both sides of the equation.
y—39439=-0025x+04+39

y = —0.025x +4.3

Thus, an approzimation of the best fitting line 15y =-0.025x + 4.3

(c) Substitute 20 for x th y =-0.025x + 4.3 and simplify.
y = —0.025(20) +4.53

—05+453
3.8

Therefore, the value of ¥ 15 3.8 when x 15 20,



Answer 16e.

The given graph is
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We need to find the equation best models the data in the scatter plot. The options for the
answer are

(A) y=15 (B) _!f'=—%.t+26 (C) }-=-%x+|9 (D) }==—%x+33

Now we sketch the line that appears to best fit the data.

1 1 1 1 1
g 1 1 1 1

0 10 20 el
We choose two points that appear to lie on the line. For the above line we choose (5,23)

which is not an original data point, and [ES*IE} which is an original data point.



We write an equation of the line by calculating the slope of the points (5,23)and (25,13).
Therefore

13-23
m=——
25-5
0
20
"
2
We use point-slope form to write the equation by choosing (x,,y, ) =(5,23).
y=y =m(x—x) [Pointslope form]
p—23= —%(x—ﬁ] [ By substituting m, x, and y, |
y=23 =—l.x+E
2 2
1 5
=——x+23+—
3 2 2
y=—%x+25.5 [ By simplifying]
1
= —-—x+26
Y 2

Therefore an approximation of the best fitting line is y=—%x+26. Hence the answer is option

(B)]

Answer 18e.

A set of data has correlation coefficient r. We need to find the value of r for which the data
points lie closest to a line. The options for the answer are

(A) r=-096 (B) r=01(C) r=038 (D) r=05

A correlation coefficient, denoted by r. is a number from —jto 1 that measures how well a line
fits a set of data pairs [x,_y}. If »is near 1, the points lie close to a line with positive slope. If »

is near —1, the points lie close to a line with negative slope. If »is near 0, the points do not lie
close to any line.



Among the given values for r the nearest value to —1is —(.96. Therefore for the value
r ==0.96. the data points lie closest to a line with negative slope.

Thus the answer is option |( A)].

Answer 19e.

By using the graphing calculator we need to find and draw the graph of an equation of the best
fitting line for the following data:
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From the above graph we obtain the equation using the scatter plot as:

y=0.0509x+1.138




The graph of the equation is as follows:
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Answer 20e.

By using the graphing calculator we need to find and draw the graph of an equation of the best
fitting line for the following data:
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We have to draw a scatter plot of the data as shown below:
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From the above graph we obtain the equation using the scatter plot as:

v=-0.0059x+98.13

The graph of the equation is as follows:

Answer 22e.

A set of data pairs has correlation coefficient p = (),] - We need to explain that is it logical to use
the best fitting line to make predictions from the data.

A correlation coefficient, denoted by », is a number from —jto 1 that measures how well a line
fits a set of data pairs [r,_}r). If ris near 1, the points lie close to a line with positive slope. If »

is near —1, the points lie close to a line with negative slope. If ris near 0, the points do not lie
close to any line.

In the given problem we have the correlation coefficient, ras 0.1 and it is near 0. Therefore the
data points do not lie close to any line.

Hence it is

not logical

to use the best fitting line to make predictions from the data.



Answer 24e.

The data pairs (x, y)give the population y (in millions) of Texas x years after 1997. We need to

approximate the best fitting line for the data below:

¥ [19.7(202 206|209 (21.3(21.7|221 225

We have to draw a scatter plot of the data. Therefore the scatter plot for the given data is
drawn below:

F 3

A
L Tt ST SN S S

U SR M ¢ &

+ » * (7225
Nt SE T NS e i P
e S e R e
i i i i i i i i ";

i : 3 i3 : 7 :

1 1 1 1 1 1 | 1
e 1 1 1 1 1 1 1 1

“opn LD GBS HEFW%E:#T}:I

1 1 1 1 1 1 1
"iE__ ____ f R 0 Tanhaaa ey e A =T e 7 e e e I e e g I e
1 1 1 1
1 1 1 1 1 1
1 1 1 1 1 1




Now we choose two points that appear to lie on the line. The chosen points are, (8,23) which

is not an original data point and [I,E{I.z]whith I5 an original data point.

Now we have to write an equation of the line. For this we need to find the slope using the
points (8,23) and (1,20.2).

MNow we use point-slope form to write the equation. We choose (I|}F|}={3v23]-

y—y, =m(x-x) [ point-slope form)|
y-23=0.4(x-8) [Substitute for m, x,, 3, ]
y=23=04x-32

y=04x-3.2+23
y=04x+19.8 [Simplify]

Therefore an approximation of the best-fitting line is |y =0.4x+19.8].

Answer 26e.

The data pairs (x, y)give the boiling point y (in degrees Fahrenheit) where x represents the

elevation (in feet). We need to approximate the best fitting line for the data below:

x (12000 [ 10000 [ 8000 | 6000 | 4000 | 2000

¥ [1898 (15936 (1974 (2011|2046 |208.4




for the given data is
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Now we choose two points that appear to lie on the line. The chosen points are, (iD[}D,EI I}

which is not an original data point and (6000,201.1)which is an original data point.

Now we have to write an equation of the line. For this we need to find the slope using the
points (1000,21 I] and [ﬁﬂﬂﬂﬁlﬂl.l}.

201.1-211
60001000
99

" 5000
=-0.0019

Slope.m =

\\>
Now we use point-slope form to write the equation. We choose (x,, y, ) =(1000,211).
y=y=m(x-x) [point-slope form]

y—211=-0.0019(x—1000) [Substitute for m, x,, , ]

y=211=-0.0019x+1.9
yp=-0.0019x+1.9+211

y=-0.0019x+212.9 [Simplify]

Therefore an approximation of the best-fitting line is |y =-0.0019x+212.9|.

Answer 28e.
The manufacturers' shipments (in millions) of cassettes and CDs in the United States from
1988 to 2002 is shown in the table shown below:

Year 1988 [ 1990 | 1992 | 1994 (1996 | 1998 | 2000 | 2002

Cassettes | 450.1 14422 | 336.4 [ 3454 (2253|1585 |76.0 311

CDs 149.7 [ 286.5 | 407.5 | 6621 | 778.9 | 84709425 |803.3




(a)

We need to draw a scatter plot of the data pairs [year,shipmemsﬁl'msseues]and describe

the correlation shown by the scatter plot.

The scatter plot for the given data pairs {}rear,shipmentsml' casseues] is drawn below:
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The scatter plot shows a negative correlation, because as the year increased, the shipments of
casseftes tend to decrease.



(D)
We need to draw a scatter plot of the data pairs [}rear,shipmenmﬂfCDs} and describe the

correlation shown by the scatter plot.

The scatter plot for the given data pairs ( year,shipmentsof CDs)is drawn below:
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The scatter plot shows a positive correlation, because as the year increased, the shipments of
CDs tend to increase.

The scatter plot shows a negative correlation, because as the shipments of CDs increased, the
shipments of cassettes tend to decrease.

The real world factor related to this problem is:

As the time increasing the manufacturers’ shipments of cassettes is decreasing and the
manufacturers’ shipments of CDs is increasing.



Answer 29e.

Data from some countries in North America show a positive correlation between life expectancy
and number of personal computers per capita in that country.

We need to make a conjecture about the reason for the positive correlation between life
expectancy and number of personal computers per capita.

The scatter plot between life expectancy and number of personal computers per capita shows
a positive correlation. That means as the life expectancy in that country increased, the number
of personal computers per capita tend to increase.

Is it reasonable to conclude from the data that giving residents of a country more personal
computers will lengthen their lives? We need to explain this statement.

With the given information in the problem we can say that when the life expectancy increases,
personal computers per capita also tend to increase. We cannot find the length of their lives.
Therefore it is not reasonable to conclude the given statement from the data.

Answer 30e.

We need to solve the equation 2x— y=10for y and find the value of y for y=§.

Rewriting the given equation, we have
2x-y=10 [Original equation |
—y=10-2x [Taking 2x to the right side]
y=-(10-2x) [Multiplying both sides by —1]
yv=—10+2x
y=2x-10 [Simplify]

Therefore the solution for y is |y =2x-10|.




Now by putting x =g8in the equation y=2x-10, we have

y=2x-10
=2(8)-10 [Since x = 8]
=16-10 [Since 2 x8isequalsto16]
=6 [By simplifying]

Therefore the value of v is @ for y=8.

Answer 32e.

We need 1o solve the equation x—4y =3for y and find the value of y for y =—-3.

Rewriting the given equation, we have

x—4y=3 [Original equation
dy=3—x [ Taking x to the right side]
‘_i:’ﬁf [Dividing both sides by —4]
}}=—E+£ [Slmpllf}']
4 4
_x_3
PS4
Therefore the solution for y is _}J:i—% :

Now by putting x =—3in the equation y = E_% we have

X 3
¥ 4 4
M 0| [Since x = -3]
4 4
-3-3 :
= [ By taking L.C.M.]
=
4
3 s ogi
=3 [By simplifying]
Therefore the value of y is _% for y=-3.




Answer 34e.

We need to solve the equation =0.5y+0.25x =2for y and find the value of y for y =4.

Rewriting the given equation, we have

—0.5y+0.25x=2 [Original equation |
—0.5y=2-025x [Taking 0.25xto the right side]
0.3y 2023 [ Dividing both sides by —0.5]
-0.5 —0.5
2 0.25
y=—-—q4—0x
0.5 0.5

_]r=—4+12,r | By simplifying]

Therefore the solution for y is |y =_4+%x i

Now by putting x = 4 in the equation y = _4+%,-,;__ we have

y= —4+%x
=-4+%{4} [Since x = 4]
.4
=i +2 [Slnce5=2:|
=-2 [By simplifying]

Therefore the value of y is for y=4.

Answer 36e.

We need to evaluate the function for the given value of xy =0.

By rewriting the function, we have

f(x)=-x+7 [ Original equation |
f(9)=-9+7 [ By putting x = 9]
=-2 [ By simplifying ]

Therefore the value of f(x)is mr x=9.



Answer 38e.

We need to evaluate the function f(x)=14~|x|for the given value of x = 2.

The absolute value of a real number x is defined as follows:

x,if x is positive
x| =10,ifx=0

-x,1f xisnegative

Here the value of x is negative, 50 |'r| =—x. Therefore

F(x)=14-|x [Original equation
=14—(-x)
=14+x
f(-2)=14+(-2) [ By putting x = -2]
=14-2 [By simplifying]
=12

Therefore the value of f(x)is mr ¥e==D

Answer 40e.

We need to evaluate the function f(_‘:] = |-6—x| for the given value of y=4.

The absolute value of a real number x is defined as follows:

x,if x is positive
|[x|=140,ifx=0
-x,if xisnegative

Here the value of x is positive, 50 |—6—x| = =H~—x. Therefore

f(x)=]-6-x [ Original equation |

f(x)=-6-x

f(4)=-6-4 [By putting x = 4]
=-10 [By simplifying]

Therefore the value of f(x)is mr r=4.



Answer 42e.

We need to graph the equation y=x+8.

The equation is already in slope-intercept form.

We need to identify the y-intercept and it is 8, so we plot the point [{LE} where the line crosses
the y-axis.
We identify the slope. The slope is 1, so0 we plot a second point on the line by starting at [{],H}

and then moving down 18 units and left 18 units. The second point is [—IE,-—E!_S].
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Answer 44e.

We need to graph the equation y=5x+9.

The equation is already in slope-intercept form.

We need to identify the y-intercept and it is 9, so we plot the point ({19} where the line crosses

the y-axis.

We identify the slope. The slope is 5, so we plot a second point on the line by starting at (0,9)

and then moving down 19 units and left 4 units. The second point is [—4*—][}}.
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Answer 46e.

We need to graph the equation 3x-2y=-4.

We convert the equation into slope-intercept form. Therefore

3x=-2y=-4
2y =—4-3x [ Taking 3x to the right side]
y=2 +%x [ Dividing both sides by —2]
3
==x+2
4 2

We need to identify the y-intercept and it is 2, so we plot the point {{Lz] where the line crosses

the y-axis.

We identify the slope. The slope is % s0 we plot a second point on the line by starting at

{{Lz)and then moving down 12 units and left 8 units. The second point is [—EL-I{}}.




We draw a line through these two points as below:




